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1. How many days, Prime Minister Narendra Modi sets a deadline for
government departments to resolve public grievances?

a. 30 days b. 45 days c. 60 days d.75 days e. Answer not known
Qurgl WaHMLOBHSH OUBLILGLD GOBHmeT Hibd DJF SHOBHEHEHSE
UyswT BOIHAT Guomy aldHeHs HTevH0HH 615HHME BT H6lT?

a. 30 [BIL ket b. 45 B el C. 60 BT &6

d. 75 mrlsel e. alewL OFfualedenso

2. Name the President who sworned LK. Gujral as Prime Minister in 19977
a. Neelam Sanjeeva Reddy b. Sankar Dayal Sharma  c. Ghiyani Jail Singh

d. K.R. Narayanan e. Answer not known

1997-b eu@pLld M6 GWITHEG LIgsHw  whHiwmsll ugpaells  Lgomerd
CFuIz MaSHSH GRUWTHSH HeneveuTler GILILIT

a. peuld Fehdal QL1 b. smisT SHwimei Fiom c. dwmaf Oeguied Hmi
d. Gs. . BAFTUIGHTE e. alewL GFMwealsvensv

3. The Chief vigilance commissioner is appointed on the recommendations

of

a. Cabinet

b. Committee of Prime Minister, Home Minister. Leader of opposition
c. UPSC d. Parliament e. Answer not known

HMEVEMID 2aMped  HOHUIL SLewewtwT  wimhenLwl  uflibgiengule  Siglienl_ulled
BlWoestd CFuIwrILIBaSBTT?

. IMDFFT6N6N

b. Uysion, o eigems SMWEFT, aHTH & HmevalT 2 6iTem Ml G

C. HHW &l uewlwimenT GHiTeuTenemTuILD

d. umymEBL&TBID

e. alewL GFHflwealevenso

4. The First Indian Prime Minister who resigned his post was

a. Jawaharlal Nehru b. Morarji Desai c. V.P.Singh
d. Chandra Shekar e. Answer not known

(WPSHET (1IpGHevled Heil LHalenwl gredlermion QFulsh @bHuwl LIFHoT

a. Mmelaneured Gp(m b. Gumymited Gxmamul c. al.l. gmi

d. gy Gosir e. alemL Oxpflwaisdenev
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Match List I and List II.
List I (Prime Minister) List II (Year)
A. Gulzarilal Nanda 1. 1966

B. V.P. Singh 2.1989
C. Charan Singh 3.1979
D. LK. Gujral 4.1997
5.1984
uCiguied T ommid uliguisd I QuThGHHs:
uCiguied I (9ysiof) uliguied 1T (eupLLD)
A. @e0mmileomed HHSBHT 1. 1966
B. V.P. &mi 2.1989
C. ggeur Smi 3.1979
D. LK. &ymed 4.1997
5. 1984
A B CcC D
a 3 4 2 1
b 4 3 2 1
C 1 2 3 4
d 1 4 5 2 e. alewl Gxfuwelsdemev
Who was the Eleventh Prime Minister of India?
a. LK. Gujaral b. Deva Gowda c. Atal Behari Vajpayee
d. V.P. Singh e. Answer not known
SnhyHwnaler LSHCammTeugs LUFHo WwhHAHTwTs S mHbEHeuT wim?
a. m.8s. GH:Mymed b. Gxeu ®ayLT C. oLev Lamfl eurgguimu
d. el.ll. e. alewL O fualedenso

Former Prime Minister Atal Bihari Vajpayee was honoured with Bharat
Ratna award in which year?

a. 2016 b.2015 ¢.2013 d.2014 e. Answer not known
(pevtearTell UMISHL LIFHWT SILed Lamil eureumul 6bhd UHLSHHEO LMTSH [&H6oIT
(gl eupmIs OBenyaldalil LmT?

a. 2016 b.2015  ¢.2013 d.2014 e. alewL Gxfwaisdenev

Which of the following article says that all the ministers are appointed by
the president on the advice of Prime Minister?

a. Article 53 b. Article 53 (1) c. Article 75 (1)

d. Article 74 e. Answer not known
SaIHB  SwFFTHEHD  Lysoflar  Beorgameruiear  Cufled  Glursd
SHWEVAIT BlUIDeD QFUISMIT.  eTHUHme SpauHlD 6lhd allg GBS BSI?
a. alg 53 b. aig) 53 (1) c. elgl 75 (1)

d. ailg) 74 e. alewL OFfwaledenso




10.

11.

12.

13.

14.

Who is the known as the “Key stone of the cabinet Arch”?
a. President b. Vice President c. Prime Minister

d. Speaker e. Answer not known

SIMDFFH  aleneNallel DIQLILINL bH6D 6160  DIGNLPSHBUILIBLIGUT?

a. GQUITHHHMOAUT  b. HIMEWISB GHQUITHS HENELAUT C. U &LoiT
d. sunprwiesT e. alewL Oz fuwaledemev

Who among the following the Prime Ministers decided to implement the
Mandal Commission Report?
a. V.P. Singh b. Morarji Desai c. Rajiv Gandhi

d. Indra Gandhi e. Answer not known

SpsaamiL  LJsiseied L0WILed Slilagesl DPbendenul Henl (PenBLILIBGSHS
WPYe| OFUIHeUT wWmT?

a. ai.l. gm b. Qumre) Gmamul c. gredell HMhHH)

d. ®pHyT sMHS e. alewL OFfluwalsdensv

Prime Minister Nehru as chairperson “The National Planning
Commission” was established on

a. 15 March 1948 b. 15 March 1950 c. 15 August 1942
d. 15 August 1950 e. Answer not known

g Chm Hewevenioulled GhpFlwl SH L Spemewtulld BHipieululr L [Brel

a. 1948 & 15 b. 1950 iwonit& 15 C. 1948 s®er0L. 15

d. 1950 symerdr” 15 e. alewL Opfwaledemnsv

Who is the chair person of NITI Aayog?

a. President b. Prime Minister c. Vice Presiden
d. Supreme Court judge e. Answer not known

B UCUITHSHIT FHEnELEUT WITT?

a. WemgHug) b. Mgz wHAM C. HMW GQUITHSH HeN6L6UT
d. o §5 pPHweam pHuLH e. alowL Gfuwaisdenew

Name the Prime Minister when for the first time the No-Confidence
motion was moved in the Parliament?

a. Jawaharlal Nehru b. Lal Bahadur Shastri c. Indira Gandhi

d. Morarji Desai e. Answer not known

BTLTEH LDTIBSHH60 (LPH6T (LPemBUWITS HLOLNSHMBHUTG060T SHTIOTEID OBTemI(h 6uhHS
Gurgl LpsofTed DIWEFFITS S(HHSHeUT wImiT?

a. auamTeured Gb(H b. eumed usHMT FTeOAM C. @hAIT HHS

d. GQumyrite) Gxmamul e. alewL OFfluwaisdensv

The Prime Minister is the head of the :
1. Finance Commission 2. National Development Council

3. Cabinet Secretariat
a.1,2and3  b.2and3 c. Only 2 d.Only 1
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rs whHfl Hemeveusres EhHebH M.
1. pg SememTuiD 2. Gapdlw L @ 3. CaUer GFweOTeNT 9IEVIeI6VHLD
a.1,2 wppid 3 b.2 wBmb 3 c.2 wl G d.1 o’ B

15.  Who was the first former prime minister to be the leader of opposition in
Lok sabha in later years?
a. Indira Gandhi b. Rajiv Gandhic. Moratji Desai d. V.P. Singh
WPHE(WPH60  6lhdE  (pevterrmell  LIgHo  whSHM, Uetemaied  Geomdaumales
aHTEL & HemevaugTda|d GlFuIeOUL LT?

a. BhAIT HMHS) b. grefeil &mbd c. Grgmed Gapamul d. el Hm

16. Which of the following articles broadly govern the relationship between
the Prime Minister and the President?
a. Articles 74, 75 and 78  b. Articles 51, 74 and 75 c. Articles 85, 74 and 75
d. Articles 74, 75 and 79  e. Answer not known

Ueiteupld  6bd alFHldel wmemglug wBmid Ugsw  whaHfulear o me|sener
alfleurs  alleufdaletmsent ?

a. algsen 74, 75 BLBID 78 b. eldse 51, 74 wBXBID 75
c. aldmei 85, 74 wB@ID 75 d. eldmeir 74, 75 wBBID 79
e. allewL  OFflwalsvensv

17.  Consider the following statements:
I The Constitution of India establishes a Parliamentary form of
Government.
II Prime Minister is the Head of the Government
ITI President is the Head of the Government
IV Real executive power rests with the President of India
Choose the correct answer from the following:
a. [ and II only true b. Il only correct c. Il and IV only correct
d. IV only correct e. Answer not known
SPHENIL. FnBOB H(HSHALD
. @b opdfweemolig FULD  UIJTEHLOEN  DIFFTHRIS  (LPenBenL|
Blmielujeiengl
II. JgswT SsFThsHHET HENeOUT SLEUTT
III. @Yurs SHmevalT HIFFTRIGHHET HEMEOAIT SLAITT

IV. o ewieniowimen miteuns SHSMID GHQuirdid SHmevalfll b o eTeng
gilwmer alledLenul &Hemi_nslsb.

a.l wmpd II w' Go #f b, III w @b & c. I wmupid IV 1l Gib &
d. IV w @b &M e. alenL Oxflwaisvenev

18. Name the Prime Minister of India who initiated the “ Look -East Policy”?
a. P.V.Narasimha Rao b. Atal Bihari Vajpayee = c. Manmohan Singh
d. I.LK.Gujral e. Answer not known
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19.

20.

21.

(1

“Dpdg CrThG HeauaisGalll] 6CETeTendemul Floubsw @bFHul  LFsLoT

wIrmir?
a. P.V prdlibio gmei b. @Led WaTh eurQumul  C. W&IGTHeT S
d. LK. gmymed e. alewL Gxfuweisdenso

Under Article 78 of the Indian constitution it is the duty of the Prime

Minister to

a. Communicate to the President all decisions of the Council of Ministers

b. Communicate to the Parliament all decisions of the Council of Ministers

c. Communicate to the Supreme Court all decisions of the Council of]
Ministers

d. Communicate to the Comptroller and Auditor general of India all
decisions of the Council of Ministers

e. Answer not known

@bHw  SFFweenoliF FULGHIHET T8-6uph TSI S uTgHL  LgsLofles

SLMOWLTHF OCFTeLLILIHIS]

a. SmFFTeneuUlei SIMDTHSI (LP196YEEMGITLLILD GQUTFHSHHM6V6U(HEEH S
Lz MaldhsHe0

b. omwFFTmeUUT6HT SIS (LPI9&)|BHENEITULD LITJT@HLOGITBSH A BGH S
g MalldgHe0

C. SlwFgTmalulel  DMTSHEH  (PROSM6NUILD o FF  BHHIRIBSHIHBESHS
Lz MaldsHe0

d. omwFFTmaIUIET DIMOTIHIH (PYAIHMETUID BbHHUIH HEDEVENIDD  H6wTHEG S
HenllbendWTeiL LD CHiflaldaHe0

e. alewL G flwealedenso

The Prime Minister of India is appointed by

a. The Governor b. The Speaker c. The President

d. The Election commissioner e. Answer not known

SbHwl LUysweny BHluiwerd GFuiLieu

a. SLEHHBT b. FurmBTWST C. GRWIHSH HENEVEUT
d. BxTHe0 SyemewtuiT e. alewL O flwaisvenev

Assertion (A): The council of Ministers is collectively responsible to the
Lok Sabha.

Reason (R):Ministers are appointed by the president on the advice of Prime
Minister.

a. A is true but R is false

b. Both A and R are true and R is the correct explanation of A

c. A is false, R is true

d. Both A and R are true but R is not the correct explanation of A

e. Answer not known

Bl (A): SIMFFTH6N GD LB QILOTSHSHLOTSH LD& B 6ITM6D
OUITMICIL|ENLUI6UIT S6TT
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22.

23.

24.

25.
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smgend (R):  oenwssismer Urswiear  ouBsorgmenuier  Guifled  @lpuwiys
SHeN6LaT  BIUWLILOSHBT.

a. A gfl gemed R Heaup)

b. A wBmd R #f A sater sflumer alendsid R oy@b

c. A sam, R g

d. A oBgd R of) A ssrer gflwurer alendsd R ouarg

e. alemL GFFflwailsdenen

Which of the following Prime Minister did not resign from his office due to
No Confidence motion?

a. H.D. Deve Gowda b. V.P. Singh c. Manmohan Singh

d. A.B. Vajpayee e. Answer not known

SHTEID BalTHeled 6hsd LIFHL WHHIM BDLUNSmE HevevT  6uTH6HBLILT6
eLpeVLD JTeglentiom  GIFUILIET60m6L.

a. H.D. Gzmeusay_t b. al.l. fmi C. eGTHeT Fbi

d. g.14. eurggumul e. alewL OFfuwaledensv

33% reservation for women in parliament and State Legislature Bill was
first introduced during the tenure of which of the following Prime
Ministers?

a. Deve Gowda b. Rajiv Gandhi c. Manmohan Singh

d. P.V. Narasimma Rao  e. Answer not known

LITT@BLOGTBID  oB@ID UL Fenuuled GLewibEhdETar 33% S @HISSL 19BEHT6]
Lo@FTHT (LP&H6V (LPSH6VI6D Q115Y:5) LNy &HLD Lo &HfluTeat HT60HH 60
SIBPSUILGSHSLIUL L &7

a. Bxpeu OmerLm b. gredeu &b C. WeIGonseasr Fmi

d. t.el. By gmel e. alenL Oxflwalsvenev

Which of the following statement is/are correct about the NITI Ayog?

I.  All Chief Ministers of states except Union Territories with legislature
are part of Governing Council.

II.  The Prime Minister of India is the Chairperson of the NITI Ayog.

III.  Finance Minister of India acts as Vice Chairman.

a. only II and III b. only II c.only ]

d. only I and II e. Answer not known

SpaUHLD FaBmIseied ‘BHig SBwTsd:’ uBBlw eheHd Fnmml Ffluimeng)?

I. gsliLwemb OCsrewi welwer JCxHamiseT Haly SlweTsHdl  LOTH6Y

(LPSHEVAITEHEHLD, HITOUTH GO0 DIRIFBLD 6185360

II. @pduns yswT ‘Big SCUTHHET HEN6VAIT SLEIMT.

III. @b PHUMDFFT FHiewewT HemevauITd CFUIGOLIBBIBT.

a. [l wpmo III wr @b b. IT 1o (Bib c. I o (b

d. I oiuid I wl G e. alenL Oxflwalsvenev

The president of the council of scientific and industrial research is




26.

27.

28.

29.
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a. Home minister b. Minister of Industry c. Prime Minister

d. Finance Minister e. Answer not known

Sflalwed wBpID OHTHBHIHB TTUIFF MOWSHHET FHENELEUT

a. 2 _6lFHIenMm DIMOFFT b. Gamfeogienns DMWEFFT  C. LIFHID DHAM
d. P& semFsT e. alenL Gz Muwialsvensv

Which of the following Article is related to the Duties of the Prime
Minister?

a. Article 75 b. Article 76 c. Article 77
d. Article 78 e. Answer not known

s oiemw&ailer sLenosdemen LUBBIE @b algl wrg?

a. alg 75 b. alg 76 c. alg 77
d. «lg 78 e. alowL Gxfuialsdensv

Which of the following statements are true about prime Minister’s office?

(i) Assisting the prime minister in respect of his overall responsibilities

(ij)Maintaining liaison with president, Governors and foreign

Representatives in the country

(iii) Settle disputes between the ministries

a. (i) only b. (ii) and (iii) only c. (i) and (ii) only

d. (i) and (iii) only = e. Answer not known

Ugso  whHSHM  DleveuevdHmH  uBslw  Ueteupd GFTBROBTLTe0  sTeva|

grilwmeneney?

1. Mgs  whaHfuler Smarhbaill  OurgiliLsmenud OCFuiusBg o SHal
CFu15H60

1.  GQWIgEsH Hmevall, SLEBHTH6ET LBBID OeueflBET. G  LIFgsngseflLb
OaTL T Newenrt LFmLOf&ge0

1. SIMFFSRIBEHEH LB 2 6o FHHe0BHMENSH HTHBHIM6USHH60

a. (i) i @G b. (ii) wbpib (iii) eysluter WL B

c. (i) wmmid (i) epduwier wi B d. (i) @b (i) epadlwer L G

e. allewL  OFfuwalsvensv

SHADOW cabinet is the feature administrative system of

a. Japan b. Britain c. US.A d. France e. Answer not known
obd BTl  PHiTeurs  FAplysd  gepisentd “Hlpsd  SIenFFTeneu’
SIMLDHSBHIGTENSH]?

a. egUimest b. I Ler c. o1m.pr  d. gneied e. alewl G flwailsvenev
The Cabinet Secretariat was created in India in the year

a. 1947 b.1951  ¢. 1946 d.1952  e. Answer not known
ApsHwumaled CasLlern QFwesDd _ Sewi(y 2 (HeuTdhsLUUL L F|.

a. 1947 b. 1951  c.1946 d. 1952 e. alewL Gxflwailsvenev
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31.

32.

33.
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Read the list of dignitaries given below carefully and find out among them
the correct hierarchical order with respect to their rank and precedence
i. Chief Election Commissioner of India

ii.  Cabinet Secretary

iii. Chief of Army Staff

iv. Deputy Speaker, Lok Sabha

a.iv, iii, i and ii b. iv, iii, ii and i c.1,1v, il and iii

d. i, iii, iv and ii e. Answer not known

&6 OThHd sl _(HeTemr o Wil uHel DeVeIeVTHeMNT LI IQUImENS H6eUalHDl|
SlalTdeT  ugaluler  Siglienuleomenr  (peiie_flewio  Bleweoll LI IQUINEVE
H6wIL_B1&

i. @b s CHTHED SLEMERTLIT

1.  1SHHU SIMDEFFTeNeUF OFUIEVT

1. HMevedlD EJTemied DIFHHT

V.  DSHSHETenel HIeN6W! FLTHTUIHT

a.iv, 1ii, 1 wmmud ii b. iv, iii, ii wBmub i C.1,1v, 11 wmmId 1iii
d. i, iii, iv oBmub ii e. alewL  Gafluweisdensv

A cubical tank can hold 27,000 litres of water. Find the dimension of its
side (in metres)

a.27m b.9m c.3m d.6m

QM SHOF FHJ eugel bTH LT iguier Osmeiemene 27,000 e LT 6660
SIS LD Sleneneud Hmew (LU L Mlev)

a. 27 18 b. 915 c.318 d. 65

A tank is 25 m long and 16m wide. If water is poured into it upto the
height of 2m from the bottom, what will be the volume of water in cu
metre?

@ QML 2515 mem(pd 1615 SiEHevpld OBTERIB6TENSH. DH6T DiQLILGHHulley)
BmbeH S WLLT o WFSHHME@ SHewieniT aMMBUILILLTD, DIbHHd HeooTemnim el
BT DI6N6Y 6THHeme FHeol O L T?

a. 400 b. 100 c. 200 d. 220

The radio of two cylinders are in the ratio 3 : 5 and their heights are in the
ratio 2 : 3. Find the ratio of their curved surface areas

a.2:5 b.3:5 c.2:3 d.1:1

B 2 _(Hhevenmerlen %Urbjasmﬂem aldlHd 3 : 5 BB Demeuderlen
® WIJmkIHeieot aﬂaé]g,w 2 ¢ 3 eielled,  SleuBnslest  eueMeMUITLILEH61T 60T
B HHH NS  HTEWISH.

a.2:5 b.3:5 c.2:3 d.1:1




34.

35.

36.

37.

38.

39.
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If the diameter and height of a right circular cone are respectively 12 cm
and 8.cm. Then its slant height is

a.10 cm b.20 cm c.30 cm d. 96 cm

GoT eu'L & &nblier allLb wBpd o wybd wepGw 12 6.5 wBpid 8 6GF.u
GTN60 ©IFHE0T FTUIWITLD 6TEITLIG)

a. 10 Q.8 b.20 Q&.15 c. 30 QF.5 d. 96 Q&.15

12 spheres of the same size are made from melting a solid cylinder of 16
cm diameter and 2 cm height. Find the diameter of each sphere.
Craugeu(LpeiTen 12 Gapmenmisemer 16 OF .51l L Lb LoBMILD 2
OF.102_wig(petene_(hewenulle(hbgie (e Ple1HoHHLILIHS B SI6T60160 GapiTerdraHles
AlLLLD STl

a.4cm b. 6 cm c.8cm d. 10 cm

The circumference of the base of a 12 m high wooden solid cone is 44 m.
Find the volume.

LOTSFH 60T @(h SHlewild SnibLllell SeFaHBmeney 4410. WLBWID DIGHT 2 WD
1215 o1edlled DIGHSHWIDD FnlDLIGT BT Sieen6US HIT6IH.

a. 257 m3 b. 616 m3 c. 576 m3 d. 1232 m3

A lead pencil is in the shape of right circular cylinder. The pencil is 28 cm
long and its radius is 3 mm. If the lead is of radius 1 mm, then find the
volume of the wood used in the pencil.

@ OGuerdleomendl @ ChHT el 2 (Hemem algaled 2 eiTengl. GUeTIFe6T HerlD
28 O&15 BB HaT oI 3 WIS GuaiFedaeT  OemwbhEH  emLoulles
(@ emul)-e1 - b 1 WS eteley, Gueiidled sHwnflds LWSTLGSHSILIL L
LOTLILIGONSBUNGET 60T H|6TTeN6USD  BHT6uT5Hb.

a.7.04 cm3 b. 8.04 cm3 c. 7.4 cm3 d. 8.04 cm3

Which country hosts the BRICS meeting in 2023?

a. India b. Brazil c. China
d. South Africa e. Answer not known

20238110 Syeunigest LIflderd OTHTL WL BHLSHHID BTG

a. ®baHwr b. 198ydlev c. deorm

d. Gaeaemiifisst e sl G fluwalsdensy

Identify the correct statements

1. The first National Training Conclave is inaugurated in New Delhi
2. It aims to train police personnels across the country

3. It was hosted under Mission Karmayogi

a.1and 2 only b.2 and 3 only c.1and 3 only
d. All the above e. Answer not known
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41.

42.

43.
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gllwnen SnBuIBHeneTdH HEwIL 1S

1. oo Cxrdw vuIBdl wrpTh YgH OLevedlulled CHTLmISLILIL (BeiTerl.

2. BTG  (PUGHID 2 616  FHTaUVTHEHGHG ULUWIBF  auphiGansd Dl
CrTohaIoTesd OBHTemI(BeiTendl

3. @3 ‘Weget &TOCWTHUIST S BHLSHHUILBGS MBS

a. 1 wBmub 2 1wl @G b. 2 wBmpib 3 L G c. 1 wmmid 3 i Gb

d. GoBaa. SEmaHEID e, alol G fwaledamed

Which Indian was recently conferred with the Grand Order of the chain of]
Yellow Star by Suriname?
a. Narendra Modi b. Droupadi Murmu c. Jaishankar

d. Nirmala Sitharaman  e. Answer not known

FUSFHe0 Gfleomblesr Hlymewil. OLTLT St & OFuler Lt Guied@eom  erOL T
all(h& GUMRISLILILL  SbHWIT wimiT?

a. pCybay Giomig b. #Ogemugd (wirp C. OuiIFmIsT

d. @ifeor FHTmioeT e. alewL Gafluwelsdensv

Which of the following is the highest slab of GST?

a. 18% b. 20% c. 28% d. 40% e. Answer not known
LNeTeu(hHeueTeuBmIeT 618 £3.6T6er0.19. Be0 DISHSLILF eufleuyidL]?

a. 18% b. 20% c. 28% d. 40% e. alewL G fuwialedenev

Match the following

A. Ekuverin 1. Unmanned Aerial Vehicle
B. Sanshodhak 2. Military Exercise

C. Ekatha 3. Survey Vessel

D. TAPAS 4. Navy Exercise

e. Answer not known
Lledteu(meuateuienml! CUM(HHaIs

A. g&0aufer 1. oefledevT auTeTaUL UTHEILD
B. saiGagnsd 2. @ymamieut Uulmd
C. gobar 3. 86 &lILI60
D. sumed 4. sLpuenLLll LB
A B C D
a. 2 3 4 1
b. 2 1 3 4
c. 1 2 4 3
d 4 3 1 2 e. alewL Oxflwaisvensv

Who is the present chief secretary of Tamil Nadu?
a. Sanjay V Gangapurwala b. Shiv Das Meena

c. Shankar Jiwal d. Udhayachandran
e. Answer not known
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45.

46.

47.
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SLODBTL 19601 HBOUTHHUI HeW6VEMIDF  CIFUIGOTENIT,
a. FehaUWl al. SMIBTLLTEUTEOT b. afle FHTerd erm  C. FRIBT 2euTed
d. o _swspdyen e. alenL Oxflwalsvenev

The first candidate to score 720 in NEET exam is

a. S. Nandhini b. Dev Shah c. Gee Gee A.S

d. Prabhanjan e. Answer not known

Bl Cxpitaled 720 waHOLewT GUBB SHWODETL L F GCFThHEH (LPSH6eL LOTEwT6UT
a.S. mhHFel b. Gxel agr c. 8.98.6).6T610

d. Wyuehae e. alewL Oxflwealsdenev

iruLnheengi inpam payakkum maruLnheengi

maasaRu kaatchi yavarkku

In this Kural the term marul means

a. agandhai b. mayakkam c. Aakkam
d. Thayakkam e. Answer not known

B (HETHEIS @GTUD LWSHGLD (HeTbHHhIS

OTFMl ST WelTdhE

oIiIm  GHM6iTle0 QUHLD “ID[hHET 6TeIB OFmevevles CUTHET Wmg?
a. OIBHMD b. wuwissd C. &HBID
d. swssid e. alewL Gxfuelsdanev

They, who learned to know the True Being, enter the road which returns
not into this

a. death b. birth c. world

d. none of these e. Answer not known

aBad GeauemiguwiauBenms &M@, OuIl  QuTmhemenr o euiTheHeuT el BLD
AUMITSH eUblenUl SIEML GIT.

a. @pliBg b. UpinimBe C. 2 VBHHMG

d. @meau gaifleoemev e. alenl G fuwalsoemew

Choose the correct statements.

1. Coming to great wealth is like joining a crowd in theatres

2. Wealth Loss is like a movie over and the crowd disperses

3. There are many people in the world who have little knowledge, who

mistakenly think that those which does have material value are stable

a.2,3 b.1,3 c.1,2 d.1,2,3

SIPHBTEAID FMBmIH6eie0 FflwmereuBenm CHihoHBHBD

1. Qufiw  Ggeveud aubgk GCFTgHed Hogwrm@Gseled gl b GCFTeuamsll
GuraIBa!.

2. Qgeveud BRIFL BuTgHed HeIIULLD (PYhHEH L LD SHmevauendll CUTETBSI

3. HeM6eVUIE06VTHENIHEMET  [HlEMEVWITEIENE!  6T63IMI  LOUIMIZS 2 60I(HLD  LjeLevnsiey|
© MLWAIT 2 60860 oo o _6iTeren.

a.2,3 b.1,3 c.1,2 d.1,2,3
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50.

12 1 Daga PLI. Q044 24220426 A2QA7ZEEER _QQANIIA1Q7

Consider the following

Assertion (A): Let those who obtain wealth immediately practise virtues
which are imperishable

Reason (R): Wealth is perishable

a. A and R are correct and R is the correct explanation of A

b. A and R are correct and R is not the correct explanation of A

c. A true but R false

d. A false but R true

LlesTeu(hHeueTalBenm LIS

gapp  (A) :  GFcveumsemens GuBBTEd GuBB  SGUTWEs  Bleweowlmer
SIpmISmenF GCFuiwl Geuewmr(hLb.

smyend (R): GFeveud HenevdsTs Buledenll 2 el Wi

a. (A) wppw (R) s Goad (R) eteiug (A) &g sflwmer alendasor@Lb.

b. (A) wpmpw (R) s spemed (R) eeiug (A)seg sflwumer alendasiosds.

c. (A) Ml gemed (R) seum

d. (A) seup syemed (R) &l

Whatever thing, a man has renounced, by that thing; he cannot

a. glory b. happy c. suffering pain d. honour
Q(HEUGT 6hHLI GUTHaTe(HbSH, UBBI bHhSWeaTd & (hHHaHleamTCeat, DbHHHIL
QUIT(HEMTEL  &)|616HT SI6ML_UFH6V6M6V.
a yslp b. ®eiib C. SI6TLILD d. wr_denio
Match the following
A. @LibemL 1. Bird
B. &L 2. Destruction
C. yen 3. Vain act
D. Gsmed 4. Nest
E. 96ub 5. Success
QUT(HSHHIS:
ugsh — 1 ugg — II
A. @LibeL 1. uBemel
B. @16 2. 9IPSHH60
C. yei 3. alewrOFuiey
D. Osmed 4. g
E. s&oub 5. Geumnns
A B C D E
a 1 2 3 4 5
b 5 4 1 2 3
C 2 1 4 3 5
d 4 5 1 2 3




